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cHel: adorate] (el &
SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
oHMeldl Hotd &XIX& 50,000 0 50,000
Jl 35,000
= 15,000
401 Al HIZ SO 50,000 0 50,000
Jl 35,000
= 15,000
01 Al€H| 50,000 0 50,000
Odi 2 eld| Hotd &X 50,000, 0003 14! 50,000
Jl 35,000
= 15,000
SHEM Dl MelXI&(HotE) 60,000 0 60,000
Jl 30,000
= 30,000
307 212+l 60,000 0 60,000
Jl 30,000
= 30,000
05 QIZtRIE = 60,000 0 60,000
Odfl Mg &otd MelXH
60,000, 0003 14| 60,000
Il 30,000
= 30,000
Bttt B XI1Z 0l A& 106,304 0 106,304
Il 53,152
< 15,946
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Il 53,152
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